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(*) Instructions to candidates:

1) Figures to the right indicate full marks.
2) Use of scientific calculator is allowed
3) Use suitable data where ever required

Q.1 Solve the following

; __ sin (xy%+y) af _
i) If f(x,y) = a7 v then the value of e (2]
A) O B) 1 0)-1 D) o
ii) If z3 — zx — y = 3 then the value of g—i = 2]
z z 1 1
A) 3z2+1 )322—1 ) 3z2+1 D) 3z2-1
iii) If u = log(x? + y?) then ... 2]
i 1 '
A) Uyxy = Uyyx B) Uyy = e
Cluyy = —Uyy D)uy, =1+ uy,
iv) If u = sin™1(x2 + y2 + z?) then xu, + yu, + zu, = 2]
A) 2cosu B)2sinu C)2 cotu D) 2tanu
i A 0(xy) _ :
V16 x=ucosv ,‘y = usinv then, ) 2]
& 2 Lo
A)u B) % C)u [ D) =
i = et = e¥sj A ;
vijlf x=-e%cosv ,y =e"sinvp then, FTIEAE h 2]
A)O B) 1 C)2 D) 3
vii) If u=2xy ,v=x?—y? where x =rcosf ,y =rsin6 [2]
a(u,v)
then, —— =
a(r,6)

— 492 i o2 1
A) —4r Bj~= C) —4r3 D}
viii) If f(x,y) = x3y?(12 — x — y) then the maximum value occurs at 2]
A) (4,6) B) (-4,-6) C) (—6,—4) D) (6,4)




¢) Find the whole length of the loop of the curve: 3y* = x(x — 1)?

Q.4 Solve any two out of three

a) Evaluate:

~1 x
J f (x? + y*)dxdy
D+ %

b) Evaluate:

11-x Xty

([ et asara

w o

00 0
c) Find the total area of the curve, r = a(1 + cos 6)



